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HH646 A KRBHE

BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B X it
ZHET 47 51 52 103 |7k S HET 219 264 242 506 | AR BT 1 X 312 357 348 705| = ;HET 85 104 110 214|RE 97 121 123 244
th ] 21 27 24 51|RESHT 320 409 366 775|RET2 X 317 374 382 756 | SEBAET 64 78 89 167 | R SHET 52 66 76 142
A 36 45 44 89( b MET 98 128 144 272| RBT3X 50 35 48 83|15 TUETHT 32 50 48 98| A F{RET 42 59 64 123
TEHET 82 91 97 188 |27k ET 22 39 33 72|db %= EET 677 962 975 1,937 |f8IEFHT 21 31 42 73|{H R 2 ET 15 22 24 46
FaERHET 94 100 17 217|FHHAT 32 34 47 81|FARET 101 153 142 295 (#5 TUET 106 108 107 215| £ B EET 15 15 22 37
REHr 75 57 59 16| & SHT 55 64 70 134 FrHET 92 116 126 242 R ATET 279 350 372 722 | & HET 42 51 62 113
B FEET 302 352 379 731|423 HT 238 290 275 565|#H—T B 87 105 113 218|287 62 73 65 138| ZFE{RET 59 79 76 155
J\BTHET 13 13 15 28 |9y =T 106 123 126 249|# =T H 102 103 124 227 (e BLHT 141 139 17 2562 HET 37 54 57 11
P9 B BT 20 23 36 59 (7K Z BT 78 89 95 184|ZEK=TH 102 88 136 224 |fEALET 595 683 608 1,291|FBHET 70 78 95 173
A RET 25 26 35 61|t2%RHET 15 27 21 48|EHMT B 180 212 243 455| R4 TET 70 83 95 178| &K tE B HT 23 28 51 79
R—&HT 33 30 32 62(AJIFRE 432 485 362 847\ WA TH 84 104 11 215 FfEA X 174 183 202 385 A &HT 38 45 52 97
R_EHE 89 84 88 172|188 ®%—TH 265 304 271 581| K FEX 168 124 64 188|RIBMX 134 166 151 317| B ARHET 69 94 100 194
H=RAET 25 25 28 53|f2 AKX 82 114 111 225|8TR—THE 250 293 331 624|FEE MR 168 201 215 416|lLEE—TH 62 66 83 149
BI\YERER 494 525 599 1,124 6) X 5+ 1,962| 2370| 2,169 4539(HAK=TH 241 292 282 574| B METREX 74 96 97 193|ILEAZ=TH 96 101 106 207
[iPANES =S 127 123 143 266| T HAEFET 100 136 113 209|FRX=TH 230 279 277 556| = ST 191 209 222 31|LEBE=TH 100 113 118 231
[:IAVES =S 370 431 443 874| 7 EHaEFHET 66 93 86 179(#H AT B 187 275 269 544| FEE—TH 72 91 81 172(ILBEMTHE 125 109 124 233
I\ R ERHET 243 223 211 434/ EHT 20 27 25 52| —TH 179 186 201 37 FEE=-TH 149 177 198 375\ILBAERTH 93 126 124 250
HrEET 523 629 649 1,278| L taEFET 66 Al 82 153/ =—TH 276 373 359 732| = EHT 115 150 130 280|lLEBARTH 119 143 140 283
FRET 22 12 19 31 (R4 EFET 77 89 84 173| 4L AR AT 89 98 105 203|DE—TH 106 161 170 331| LEHX 5t 1,154 1,370 1,497 2,867
=odi 15 16 15 31([BHMX § 329 416 390 806|dtZEFAE—TH 133 186 207 393|FXMDEZTH 125 229 214 A43| FREER—TH 148 172 167 339
ERAITX 24 19 24 43| R 3L ET 93 100 133 233 ZEBEB -TH 181 246 305 551|DE=TH 122 195 185 380| FHREFER_-TH 105 136 118 254
SRETHT 22 23 31 54 ¥R ZHT 202 237 240 477|dRERERE 131 201 207 408| hEIX 5t 2885| 3557| 3518 7075|FRERE=TH 151 158 165 323
HERT 111 11 11 222| % RAAT 212 237 274 511 B 5t 4169| 5162| 5355 10517|FHAT 221 266 255 521| FRERDTHE 174 189 199 388
FHAHET 569 681 683 1,364 (L SET 72 78 99 177 |{E S BT 218 245 278 523| L —O@T 56 75 77 152 FRERETHE 149 182 164 346
R 104 77 123 200 | BT 3R FE SET 18 24 17 41|RANIEX 109 133 140 273|45 FHT 96 117 123 240| FHREFERATH 175 199 225 424
A2 207 233 242 475K SLHT 26 38 34 72| IR 59 61 79 140| A2 HET 233 299 333 632| FREFE —TH 139 163 160 323
LRI 66 43 70 13|dLEME 73 54 73 127 [;EFIIX 52 73 85 158 |34 BT 34 50 56 106| FREB _TH 151 182 185 367
R4 209 266 261 527|%M#HH—TH 143 158 171 329|48J11 37 ET 112 142 140 282|Z ALET 82 101 108 209 FHREB=TH 146 187 180 367
Pl i:b <1~ 397 462 498 960| ZREJHIX 5t 839 926| 1,041 1,967 | #1 FH#TET 23 31 36 67 | &I HT 137 150 158 308(FHREFBET B 105 115 137 252
tHER6X 201 226 216 442 | = {RET 141 155 174 329|fEFHEHIX 5§ 573 685 758 1,443| & R ET 57 84 87 1M|FREBRTH 131 139 142 281
AEXBE-TH 132 156 156 312| EAIRR 8 7 12 19| =5k BT 552 690 650  1,340|EHhET 24 38 43 81| FHREBATH 138 163 170 333
HEE2—TH 80 89 97 186| &R 12 13 14 27| =k T 514 601 586 1,187|A#FF—THE 90 110 107 217 FREBLTH 174 193 230 423
E=E_TH 102 105 123 228| BHKX 11 13 14 27 |{EHEET 53 77 75 152|#FF=TBE 57 74 71 145 FREB/NTE 124 132 148 280
EE=TH 109 135 144 279[iE{LET 41 45 57 102 (& sk #ET 77 85 101 186| A FEF=THE 78 99 106 205| FHREM—TH 118 139 146 285
Am—TH 119 122 125 247|CERET 29 35 29 64| T IRET 43 61 63 124|AFFWTE 104 130 116 246| FREM_TH 145 166 175 341
HH=TH 144 186 213 399|/I\ 1| BT 50 50 70 120|/\ EH AT 60 82 76 158|#FFRTH 73 91 90 181| FHREFHX 5t | 2273| 2615 2711 5,326
Hi5—TH 69 75 88 163| 78 IBT 38 42 53 95(/\FRET 132 153 163 316|#FFATH 69 69 81 150 | &7 108 131 133 264
EBE-TH 144 188 168 356 | R AEET 30 31 40 71| —1xHT 69 86 81 167|BK—TH 99 120 133 253 A ET 102 111 11 222
#E—TH 135 121 133 254| E{RHTET 110 126 130 256 | & ERET 174 193 205 398|#K=—TH 66 74 82 156 | Fa AL AT 105 121 114 235
ZXEZ-TH 130 163 162 325|H4EER 96 107 113 220|EHE KX 397 486 470 956 | MCPHIX 5t 1576 1,947| 2026| 3973|FEM—TH 104 128 120 248
KIE—TH 171 175 214 389| = [RET 76 91 77 168(hEXRHX 216 252 223 475|t&5THT 457 587 524 1,111|BwHE=TH 69 71 75 146
KRKIE=TH 107 102 99 201 | SRX § 642 715 783 1,498 %A & X 115 131 130 261 | HEET 136 155 161 316|FEM=TH 67 82 84 166
#H—TH 66 Al 77 148 |3 ALET 160 204 210 MN4|—1FFHEK 232 278 235 513| 12 FHET 343 419 392 811|3REFHT 64 75 76 151
#BH_-TH 70 66 77 143 | KK ET 83 110 117 227|REE=TH 9 9 0 9| HhET 393 521 508|  1,029|3=iREFET 102 110 109 219
B5%5=TH 23 31 33 64 (X 126 160 168 328|HEVEHE—TH 74 90 95 185|4BpHBX  5F 1,329| 1,682| 1,585| 3,267|FEEREFAT 83 88 101 189
BEX—TH 136 167 182 349| R HE—TH 126 81 134 215|HSVEHE_TH 131 150 177 327 BmERHE—TH 67 68 74 142
BHR=TH 28 17 23 AWFHERZ-TH 70 76 85 161|HIVIEE=TH 79 93 103 196 EERX 119 114 133 247
BEXETH 98 97 128 225 KK FX 91 121 119 240|HSVEHEMT B 126 161 149 310 NEEHMX 5t 990| 1,099 1,130 2,229
BXATH 67 89 78 167 | FHILX 136 156 162 318|JEETE 0 0 0 0
BXtTH 128 137 154 291 | R HPHK 64 72 86 158 [/\AHEX 82 107 108 215 NG 30,100| 35,623| 36,578| 72,201
BEXNTH 165 211 222 433| M FAEMX 53 66 57 123[MBH#IX 5t 3,135 3785 3690 7475
BEXATH 1 1 4 5|F HmX 233 280 305 585
B2X+TH 25 26 19 45| — AKX F 1,142 1,326| 1,443| 2769
#HAR—TH 25 29 30 59
HAZTH 100 145 141 286
HAR=TH 162 240 248 488
MEX  § 7,102| 7.968| 8482 16450
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SF6E6AKREBA
BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B £ it BT (X) £ e 5 S B BT (X) £ HEHR| 5B ES it

EINE:k 29 32 37 69 [/ \IEET 145 173 198 3713 R ET 124 150 158 308 | NET H[E 44 44 61 105 | [ HAET 47 55 63 118
%)IIFRTR 166 198 230 428| == HT 44 62 63 125 |3 R ET 232 218 258 476 |3 RBTILE 24 30 30 60| FAAREFET 22 30 35 65
EJN L) 34 40 39 79| B LLET 208 247 276 523|EAFET 291 426 436 862 NET 1R E 105 109 135 244|773— LB 31 4 38 79
ZE)IIhETR 123 137 151 288| 1 B HT 50 56 62 18|83k —TH 113 135 133 268 [(AINETEYDE 51 58 62 120|;A] & BT 51 66 72 138
EJNEd i) 39 4 43 84|@I H ILIET 51 70 68 138 [ EEFHET 42 52 62 114 NET S LA R 55 60 66 126 | % R AT 42 39 35 74
EJN B 35 32 38 0(—/SHX 5t 498 608 667 1,275 | @A ET 38 61 54 15[ NET O EE 15 20 19 39| FEFET 43 61 63 124
EJNE ) 46 44 43 87|88k S HET 88 82 86 168 | 2 HET 132 206 208 414 (A RBT R EE 4 4 4 8| L EFHT 104 128 141 269
E)IIFETR 39 38 46 84 #BSRERHET 90 116 116 232|Fi i AT 262 347 393 740 |;R] R ETEL i 3 1 3 4| =IxET 27 30 31 61
Ik AHETEE 43 52 42 94|#BEABT—TH 28 31 31 62(BAXMTH 250 306 337 643 ;A NET AR 20 17 35 52| FH& 20 20 25 45
FE)IIKAETER 27 27 31 58|85 RABT—TH 29 27 37 64|BAX=TH 112 129 126 255| ;R ETIR £ 9 8 9 17| LHE 23 27 26 53
EJNE i) 38 26 46 T2|ESRABT=TH 45 52 69 121|505 3 HT 266 384 389 773|AINETR R 16 16 14 30| I = BT 53 56 66 122
EISHR 150 177 197 374|E5KABTM T B 203 211 245 456 |5 & HT 181 224 244 468 AT BT/ 3 2 1 3|5l = AT 14 17 14 31
%I #=ERT G 51 43 53 96 (#akE A ET 169 166 187 353|5RNE—TH 107 188 176 364 | NET T HT 3 4 1 5| % 7R AT 43 38 36 74
EINE:ES: 77 91 100 191 B8R FIRET 93 92 105 197(lFEZTH 86 126 132 258 (AT AETA 15 12 16 28| #FEKET 22 20 23 43
EJNIPE g 83 83 99 182 |#B3k L HRHET 29 25 32 57 |ZAEFET 114 139 151 290 A NETHR 2 22 24 24 48| EHET 12 13 12 25
E)IEATR 115 119 139 258 | E5K T AT 28 26 36 62| ZAEFHTAT 82 90 96 186 | IAMhIE & 389 409 480 889 | L FEET 13 9 1 20
EJNEN:IFi) 32 33 40 73|#BR B 36 43 45 88| &8 A EHET 105 113 128 21| TEHH 67 80 84 164 (= V420 2 4 1 5
EJIEIN:IES 82 74 79 153 |E& R &N<F BT 153 180 187 367| B FHET 339 416 397 813| L HH 94 85 98 183 | $UARHT 3 3 0 3
)11 F0;RETEE 208 260 281 541 |E8 K BT 78 90 105 195 &5 A E T 34 37 38 75|k D4R 58 64 65 129 | ] BT 6 3 5 8
EJNEakaE 238 238 268 506 |5k K P HT 35 32 36 68(MitIX 5t 2910 3747| 3916 7.663[{ER 21 25 28 53| E+AHET 0 0 0 0
FMX 5t 1,655| 1,785| 2002| 3,787 |#&k KEfT 177 209 205 414| B [@EET 194 253 282 535| KXP9E 8 2 6 8| Hn R AT 1 1 0 1
REAT 352 457 457 914 |#53k KE FHHAT 137 214 212 426|F CIET 140 161 198 359 |#EiK 29 21 23 44|53 BT 0 0 0 0
FHRHT 305 347 328 6755k KFET=TH 15 18 20 38| KATET 77 97 83 180| /& 35 38 40 78| #8;EHT 26 27 38 65
HEET 41 55 61 116|#8RKFET=TH 70 83 94 177 |BH:E SHT 18 21 27 48| K& 16 20 28 48|25 KAT 36 44 49 93
RIEAT 49 80 68 148 |#83R/K FRTM T B 29 32 36 68|7THT 80 114 131 245| L K& 22 19 21 40| TEHAHET 64 66 81 147
FEKSEET 151 188 198 386 (#55k A AT 32 42 40 82| ch /4ERET 60 69 87 156 | R BH 11 11 12 23| L EAHET 41 46 58 104
e S HT 307 339 365 704 [ESRHIX 5t 1,564 1,771 1924| 3,695|REFHT 62 69 68 137|hE 34 29 34 63|76 1% RET 30 32 39 71
Fepiulig 75 87 85 172| A+GHET 248 294 320 614 [RET 66 74 80 154| SHSHMIK 5t 395 394 439 833| =V REFHET 53 57 81 138
Byl 270 288 333 621 |/INMINET 229 238 265 503 [ 4E A HT 25 28 28 56 SR LT 49 59 63 122
HEHAT 324| 393 408 801|BAL=TH 170 206 191 397| B A 335 376 412 788 LB B ET 1 2 2 4
e S AT 11 10 14 24| /1N ET 84 92 117 209 | R EHET 169 197 206 403 TATEE 23 30 26 56
ESFH 137 201 177 378| BEFHT 284 344 378 722 |#B3RZ SHT 202 229 243 472 Stutbts 5t 902| 1,024| 1,134 2,158
BESFR 126 163 192 355|BA SHTIL/E Al 95 101 196 | RiFEHTHET 165 195 203 398 =5 47 43 39 82
ESFH 128 193 185 378|BABHETE /K 24 28 33 61|/ $ERETET 13 21 15 36 i 2 0 2 2
IREIX  § 2,276| 2,801| 2871 5,672| B3 BET AT 48 60 59 119| 3 O #r AT 55 79 85 164 R 82 63 78 141
EET1R 52 59 53 112|BA SR TG/ 47 53 50 103 | Se AR T 169 220 227 447 ZE 26 11 30 41
EET2X 44 39 64 103| &/ REFTHET 45 65 66 131|SEXBMIX 5F 1,830| 2,203| 2375 4578 #w=-QO 13 9 9 18
EET3X 47 40 58 98 (FH S & HT 97 123 119 242 ) 6 7 2 9
EETAX 56 56 63 19| EFR 8T 55 58 62 120| B8Kithisl & 9,295| 11,317| 11,983 23,300 Bra 0 0 0 0
EET5X 135 170 182 352| THRSHET 90 126 109 235 HMPREX 22 28 29 57
EET6RX 155 144 173 317| B A 182 236 233 469 EOibiE 5t 198 161 189 350
EE7R 36 42 41 83| HHZSAHET 238 265 275 540 Big 233 252 267 519
EETSX 90 89 95 184 | R % SHT 279 310 312 622 B3 72 69 65 134
EETOX 108 97 11 208 |t 7% SET 152 165 186 351 THE 0 0 0 0
EET10K 261 285 311 596 | 78 7 S HET 46 63 68 131 Bigtthis; 5 305| 321 332 653
EET11X 0 0 0 0| SHT 54 91 80 171

EET12K 203 285 284 569 |FE % SET 50 76 77 153

EX 5t 1,187| 1,306 1,435 2,741 | B § 2,493| 2,988| 3,101 6,089 & 46,702| 55,141| 57,443 112,584
Z) It 5t 5118| 5892| 6,308 12,200




